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Question Number : 1 Question Id : 5500531761 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

J4x—l. X >3

The range of the function f(x)=<x" -2, —2<x<3 is

W, X2

A% W%3
f(x)=9X -2, —2<x<3 PIoahdn 3E), o7
3X+4, Xx<-2

Options :



L » R=(7.11]

4 % (7.11]

Question Number : 2 Question Id : 5500531762 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The domain of the function y=1£(x), where x and y are related by 2" +2¥ =2 is
X 8o y ok 27 +27 =2 &r(oe dowodd DBIADE, y=1(x) Hoabiw

0308 DGB3A0

T et

Options :

o (2)



Question Number : 3 Question Id : 5500531763 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
[1 2 1)

The number of ordered pairs (x,y)forwhich A= 2 2 x| isasingular and
|
\y 1 2

symmetric matrix is |
1 2 1)
A=2 2 X 0096 w8 oFEn a0 IR0 Srgs it Got
y 1 2)
g0 cotf) 0 (X.Y) @ Doaxs

Options :

1.% 1

-J

3

Question Number : 4 Question Id : 5500531764 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



o (2 1 3] 2 140 3
If A= | fBZI —_— and 2A+3B-5C=0,then C=

3 L3 =l [2 10 3
A=| B=l 28030 2A+3B-5C=0 es003,
[ =% 2.3 1-12 3

E'.‘JKQ_‘)DC‘;J C=

Options :

Question Number : 5 Question Id : 5500531765 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



|3 @ 2
10 1 =2].
The rank of the matrix | 1s
J. =) &
2 20 8
il B 2
0 1 -2
B3 B, 5
1 =01 4
12 2 8 |
Options :
1.% 2
2. % 1
3.¢ 3
4. % 4

Question Number : 6 Question Id : 5500531766 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

(4421 3+4i)

Arg —+ : | lies in the interval
\1-2i 2+3i/

Arel 4+21 34 | &0C e90ei%0

L= hT%i,,

Options :

1.9



Question Number : 7 Question Id : 5500531767 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The multiplicative inverse of z is
Z GB0), e DS

Options :

1
1wz+f




NI | =

Question Number : 8 Question Id : 5500531768 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 1, w, o are the cube roots of unity, then the roots of the equation

82° —12z> +6z—28=0 are
1. . 0 9208 DELA0 G30E); LD VOB, VDD
82° —127" +62—28 =0 2DSCE0 CB0E), Sarered

Options :

-
- 2, 30, 3o +1

. 2
3n+1 30 +1

1+3 1+30

Tad
()

Question Number : 9 Question Id : 5500531769 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If z,=2+31, z,=4-51 and z,are three points in the Argand plane such that

5z, +xz,+yz; =0 (x,yeR) and z,is the midpoint of the line segment joining the
points z; and zy, then X +y =

ol dwod 7 =2+30,2) =4-51 2060 7,8 Jurehy Dockdien
52,+x2,+¥2;, =0 (x,y € R ) ercbibtn Gotwr sodotho 21, 2) & S8 Saraoco
aR0g), 6] Dot 7, 9003, WYY X+ =
Options :
~5

1.4

2.330

4% 1

Question Number : 10 Question Id : 5500531770 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the roots of the equation 6x’ ~11x” +6x—~1=0 are in harmonic progression, then
the roots of x’ —6x” +11x~6=0 will be in

2ddman 6%’ —11x" +6x-1=0 CI0g), Sareren FodS 36 6 €0, By
X' —6x" +11x-6=0 cing) dapere
Options :

Geometric Progression

(o8 3¢ &5° sotraw

1. %



Arithmetic Progression

eos 3& &5 cotrow
2. ¥

Harmonic Progression

oSS 3G & eotran

Arithmetico — Geometric Progression

908 — 082 3Q €5° Soérrow

4, %

Question Number : 11 Question Id : 5500531771 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The number of elements i the set S = {x eZ:x'-7x+6<0andx’-3x> U} 18
28 S={XeZ:x -Tx+6<0 HBa» X -3x >0} & Awrvse R0

Options:

oo

(B8]

()



Question Number : 12 Question Id : 5500531772 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If 341 and 2- /3 are the roots of the equation

f(x)=a,+ax+a,X +..+2X"; a,.4,.....a € Z, then the least value of n and the

value of ag are respectively

3+1908050 2-43 0 f(x)=a, +ax+a,xX’ +.. 42X 4,.,..... 80D
2DEGEPS darerdd, OV 1 A, SR Dened Sodotho ay AE), Dewsden
AT

Options :

1641
4,10

L x 410

Question Number : 13 Question Id : 5500531773 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If o, B and yare the roots of the equation x°+3x°+4x+35=0. then the cubic
equation whose roots are 1+4a, 1+4p and 1+4yis

DR0EERL X' +31 +4x+5=0 dng areren o.f 2080k 7 wand, B @
I+4a, 1+4P 080k 1+4y & Soreraor (D8 208 HEGE0
Options :

X' +9x°—21x+267=0

1. %

x> +9x* +43x—-267 =0

2. %
,x X H9X° +41x+267=0
y v X’ +9x% +43x+267=0

Question Number : 14 Question Id : 5500531774 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When x 1s so small that its square and its higher powers may be neglected, then the
4
(3
1+ox | |(3+x)

)

value of

is approximately equal to
i 3
(3-%)

X o?mégj S0 SnBodn 5063 Ty QTP S‘bé&oé 3ARMED X od Dél&

- =
4 |
(1+“—x; (3+x)

9003, TN

3 a38), RISV &3P ON0YT
(3-x)



Options :

I 7%
| 3 A
2. % 39
1 1ix
__|_—
3 % 3 18
1l
4 % 3 18

Question Number : 15 Question Id : 5500531775 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

-1

; B . - "
The coefficient of X" in the expansion of (1-3x)+ is

1

(1-3%)* chog), DYoeS x° s, s
Options :

45
1% 64

P
Lhn

o]



I
h

(ad
-2

Question Number : 16 Question Id : 5500531776 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1 :
15

; : s
The greatest term in the expansion of (1+x)", when x =

I*-.jll||—l

X =~ oS\ (1+X)° cing) Doed’d K8R veo

kD | =

Options :

1L 150

5
| @ 32

4, =



Question Number : 17 Question Id : 5500531777 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of natural numbers less than 500 in which no two digits are repeated 1s

8 20{6"D 2 Bocky woSP YITB0 TG &0, 500 ot ) I v

T
Ve ;boa:;ga "nnoa}?g
Options:

. % 374

Question Number : 18 Question Id : 5500531778 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2023
If N(n)=n n (11j —1“] (n>2023), then “C,_,when n=2024 is

203

N(n)=n T (_;12—1'2)[11 >2023) o8, n=2024e0089y "Cy, =
Options :

. (4047)!



(4048)!

, o (6023)!

4« (6069)!

Question Number : 19 Question Id : 5500531779 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If P=tan15°+cot15°,Q = tan22%—.c0t 221? and R =sin54%sm18°, then their

ascending order 1s

4] 4]

) o 1 1 o
P=tanl5°+cot]15°, Q=tan 227+ corzz? S6ain R =sm54%4sml8° eand,
) ding), eBire givo
Options :

_PQR

2. % ERY

R.Q.P

3. ¢

R.P.Q



Question Number : 20 Question Id : 5500531780 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
. T L Tt _ T _ pi
CGS;.LG.‘J?.CGEF!—_‘...CG&E—

Options :

4. %

Question Number : 21 Question Id : 5500531781 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



sin2p

Ifsm(o+P) =5Ssin(o —B) . then =
ot P 5—cos2p

. ; . in 2
sm(o+P) =Ssm(o—[) o, ey %:
5—cos2

Options :

., tan(o+pP)

. cot(a+p)

3 ® CDT({I il B)

4o tan(c — )

Question Number : 22 Question Id : 5500531782 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the items of List — A with those of the entries of List — B

PO — A 0903200, AT — B ') e0%a0d 2306304,

List— A List—B
T —A o —B
D sin?5°+sin’10°+sin’15°+,, +sin’90°=  (A) O
(ID tan*5°tan"10° tan"15°... tan’85° = (B) 19
2

(D)  cos*5°+c0s’10°+¢c0s’15°+...+cos°180°= (C) 18
(IV) cot3%+cotl0%+cot13°+...+cotl175°= D) 1

Options :

(1)=®. (I)-> @), (M- ©), (IV)> (@A)

(1)>@®B). (I)> (), (O)> A). (IV)> (O

L ()=>®d. (I)» (O, (II)- @), (IV)-> D)

L ()=©. (I)» ®B). (@O)-> D). (IV)> &

Question Number : 23 Question Id : 5500531783 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If cosA+cosB+cosC=0=smA+sinB+sinC, then cos(A-B)=
cosA+cosB+cosC=0=smA+smB+smC esond. LN cos(A-B)=
Options :

1_;30

Question Number : 24 Question Id : 5500531784 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If sinxcoshy=cosf andcosxsinhy=sin6, then sin’x +cosh’y=
sixcoshy=cos vdaky cosxsinhy =simnb Lond, By sin’x + cosh’y =

Options :



sin 20

cos 26

Question Number : 25 Question Id : 5500531785 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

i KABC I PR AN =8, e b
ab bc ca

I 1 1
AABC &'1=1, R=4 SBan A=8 wond, o)y —+—+—-=
ab bc ca

Options :

1.% 8

Question Number : 26 Question Id : 5500531786 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

In AABC. if r 1s the mradius and 1l.12.13 are the ex-radii. then
1 Fyg i o
—| b sin2C+¢ smEBJ =
4 L

AABC &' 160806 8,8 o760, 1L,12,1300 &y )8 TIITen sowd,
LIS ey l[bz sin2C+c’sin2 B} =

4

Options:

A

r1, tan
1.%

~ beccos A
2_ %
TELT,

A
I'T, cot—
4.9 2

Question Number : 27 Question Id : 5500531787 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

i AR, g B B
s—a s—b s-—c

AKBOE, =B gD o €

Options :

1.



B
o I
B
2. % 1
2R
s B8
3.8 1
R
4. v 1

Question Number : 28 Question Id : 5500531788 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
: 3 2%+5 1 k ,
If . 4 = at \TJXER—{—._E}. then both the roots of the
k3 3x-k (kx+3) 3x-K) k'3
equation kx"—~7x+3=0 are
k 3 2x+5 (-3 k|

4 - 7X €R —<— .= 9008, 9\ ¢D
33—k (kx+3) (- %3] )

kx® - 7x+3=0 Hgde0 Gwg), Tocty dareren

Options:
Rational numbers

095830 :aoa_age_u
1.¢ :



Irrational numbers

ol [anh) Rozgen

Complex numbers

5036 *rboaa5w
3. % =

Integers

I TRoSTe)
L1 TZ

Question Number : 29 Question Id : 5500531789 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let ABCD be a parallelogram and 2i+ 1, 41+35j+4k and —i—4j-3k De the position
vectors of the vertices A.B.D respectively. Then the position vector of one of the
point of trisection of the diagonal AC 1s

ABCD a8 #5086 oy Sobaty 21+, 4i+57+4k SoBako - -4j-3k
o S ABD g a@va e wRDOTo. B\ dddo AC dws)
SErE6e Docddws” ws ool g»a 0%

Options :
I .8 .5 =
:(31+2J—k}
1.% 7
] .8 B &
—(51+2j+k)
J



Question Number : 30 Question Id : 5500531790 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let a,b,c be three non-coplanar vectors. Then the point of intersection of the line

joining the points a+b+c, a—b+3c and the line joining the points 2a—b+c,
a-2b+4c 1s

QBE 0 A Bddah HB%RLTo. E.‘J?'.{)Dda a+b+c,a-b+3c
Dot €05 B 8ok 2a-b+c , a-2b+4c Docov €D Gae

GBg) 206D Dot
Options :

2a+4¢



Question Number : 31 Question Id : 5500531791 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The vector equation of any plane passing through the line of intersection of the
planes r.my =q, and r.m, =q, is given by r.(my +Am;)=q, +Aq, for Lek. The

vector equation of a plane passing through the point 21—3]+E and the line of
intersection of the planes i(i—Z}Jr %I) =5 and I(%‘H]— EE) =7 i

r.m; =, SO0 1M =q, STV G0g), 0ckdd B hored BT dwo
awg), FOT og6mo, AR & r(m+hm)= q, +Aq, T ARG,
2-31+k Dockody fordd &bato r.(i-2j+3k) =5, r(i+]-2k) =7 dere
0cid 8 ooreidy e dwo aing), HET 22086830

Options :

_‘ __T_,‘_. __'_ oy
- r.(—21—3j+5k)=-2

- r(Ti—-k)=19

r.(di—j+k)=12
3. %

. 1.(81+5)—9k) =16

Question Number : 32 Question Id : 5500531792 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let a,b,c be three vectors such that a is perpendicular to band b is perpendicular to

¢ If 5:2._\5\:3.,

c‘ =5 and

a+h+ E‘ - 43, then the angle between a and ¢ is

b3 a wowormar 28t ¢ § b wosorrdy dodtw a.b,cen Ardd

H6 800800, ‘5‘ =3, \E\ -5

E‘ =5 BoB0kw

5+E+E\=4\/§ o, 7 AB0k
) 3596 &0
Options :

1-.'“
COs

wh| ko
e = _,_r/

-

Question Number : 33 Question Id : 5500531793 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let §:1+J+E E:F]—Zi, E:i—ﬂjﬂi and a:—4i+53—3ﬁ be four vectors. If

d=X(E><E]—%(EX5)+Z{ﬁXB). then x =

SIAEILEn a:X(EXE)—%(EXQ:)JFz(gxg]wm@, SN X =

Options:

7
1.% 9

N
{
O | k2

Question Number : 34 Question Id : 5500531794 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The mean deviation from the mean for the data 6,7,10,12,13,4.12.16 is
Sgro%o 6.7.10.12,13,4.12,16 5% Sogfno &oc 60 ddedon
Options :

23

fad

1. %



Question Number : 35 Question Id : 5500531795 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A shopkeeper buys a particular type of electric bulbs from three manufacturers M,
M, and Ms. He buys 25% of hus requirement from M, 45% from M, and 30% from
Ms. Based on past experience he found that 2% of type Mz bulbs are defective,
where as only 1% of type M; and type M, are detective. Ifa bulb chosen by him at
random is defective, then the probability that it was of type Mj is

28 QUSRI w8 bg*g g Dc’)éei BRNOR) mgma Sdosrdorden M My,
28050 Mz © 200d S0Fen S, 8 9508208 0dt 25% M; &0, 45%
M, 4006 08050 30% Mz 200é Sotrcd. frduzdsn #0é Ms &od §duffen
B aamaueﬁﬁ 2% &0 DB D 51T, My My © 006 § SoB e B aawatveﬁﬁ
280l 1% B30 $BARIM ) 020 9 BARVLDTD. AFEDorr
ooy s ey &30 D) o KR, )\ 98 M dood §ofen
IR DRy aediaé 03

Options:

5
1% 13

2. ¢



Question Number : 36 Question Id : 5500531796 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The probability that a non-leap year contains 53 Sundays 1s

D2 0560 5708 VodS\6BS’ 53 BT T DBy VogrSS

Options:

£
e 7

I\Ql

~1 |2



Question Number : 37 Question Id : 5500531797 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If A and B are two events of a random experiment such that P(A U B)=10.65 and

P(AnB)=0.15, then P(A)+p(§]=

P(AUB)=0.65 080ty P(ANB)=0.15 wckjen A $0a0 B e 28

03Py HATPrio o), Goch Dokden wad, wiycd P(A)+P(B)=
Options :

05

Question Number : 38 Question Id : 5500531798 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a card 1s drawn at random from a well shuffled pack of 52 playing cards, then the
probability tha it is either an Ace or a Spade card i

) T $3 52 2 dwg) o g8 Ao w8 B Hg) Lo Alre)ySore &Y,

IR, fafogen 5% N 9.90335 R0z



Options :

4
v 13
1
1
, u D2
|
4.% 2

Question Number : 39 Question Id : 5500531799 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of persons joming a cinema ticket counter in a minute follows a Poisson
distribution with parameter 6. then the probability that at least one and at most
five persons join the queue in a particular minute 1s

28 DAL B3 STt HED w8 Ddwied’ Sy B8 djw Doax, 6 HoAE
28 00RO Deradod) BRUNGR0B. WY ws A6 208" €Dio 2 &
Bt B30 HEdE &r(s” SOVSE doardie

Options :

e x6(25.48)

1. &



Question Number : 40 Question Id : 5500531800 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If X is a random variable with probability distribution

k+l)e
P(X:k):( k) , k=0,1.2,..., then P(X>3)=
)= .
o (k+1)e
P(X=k)= T k=0,12,...dogrioe diradoed X wg olrdy oo
a3, W)\ P(X23)=
Options :
4
1% 4
5
2.v 16



Question Number : 41 Question Id : 5500531801 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the ends of the hypotenuse of a right angled triangle are (0, a) and (a, 0), then the
locus of the third vertex 13

(0. ) 080 (a. 0) e $TTren ™ o w8 vow St Gabao GE), KrE o
ﬂ.DS)T Dot

Options :

. e
Lo XY —ax—ay=0

%y e
X" +y —ax+ay=0

2. %

2 2

X —y —ax—ay=0
3. ® =

z 2

X =y +ax—ay=0
4, % < :

Question Number : 42 Question Id : 5500531802 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
The pomt P (2. 1) 1s translated to a point Q parallel to the line L=x-y-4=0 by

2\6 units. If the point Q lies in the third quadrant, then the equation of the line
passing through Q and perpendicular to L is

P(2. 1) Doty 6 L=x-y-4= 0% damostor 23 ardey drods
Dockdd) Q § Arodt HBYD BPEd. Dotosd Q Barcied Pcsod” ol WP\

Q oz e L € woworr &od 0¥ G2 pabssmnn

Options:

1 % 2}{—!—23{21—\/(:

Question Number : 43 Question Id : 5500531803 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If O is the origin and P, Q are are points on the line 3x +4y+15=0 such that
OP=0Q=9. then the area of AOPQ 1

0’ duredod) @bain OP=0Q=9 waviwty 3x+4y+15=080P.Q w
Dodopen wand, B\ AOPQ  aog) dFohw

Options :



Question Number : 44 Question Id : 5500531804 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of straight lines that can be drawn through the point (-3,4) which are at
a distance of 5 units from the point (2,-8) is

(=3,4) Doty Hore Fdr 80k (2,-8) Dothrey) od 5 ek Erdoes”
&0 6% BV ‘:aoa;}?g
Options :

1.0 0

2.@'""5l

4 w Infinite



Question Number : 45 Question Id : 5500531805 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the lines joining the origin to the points of intersection of 2x+3y=k and

3x° -xy+3y +2x-3y-4=0 are at right angles. then
A00otoRd, 2% +3y=k s8aby 3x° —xy+3y +2x-3y-4=0 © 2okd
Docovd €D5 Bew oo Eot, N

Options :

| % 6K +5k+52=0

L OK*+5k—-52=0
, o 0K —5k+52=0
4 o 6K =5k—=52=0

Question Number : 46 Question Id : 5500531806 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let PQR be a right angled 1sosceles triangle, right angled at P(2.1). If the equation of

the side QR 1s 2x+y =3, then the equation of one of its sides other than QR is
wow 50 0BT abao PR & P(2]) ¢ vob) €0 08 woSomo.

QR b pDédt0 2x+y=3 wond, ¢ QR 57388 oo wé o

GBg), H086e0
Options :
"} g e
L x XH2) 4=0
- IX=y-=3=0
X—2y=0
3. %

Question Number : 47 Question Id : 5500531807 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The coordinates of the point which divides the line joining the points (2.3.4)and
(3,-4.7) in the ratio 2 : 4 externally is

2.3,4) 08050 (3,4,7) Docosdyosd £ Bodd 2 : 4 dS” ersriom
Ak )

DR Dot a0, QEFHZ0

Options :

e (10.1.1)



L (L10.1)

(10,—10.10)
3. ®

L« (L1 10)

Question Number : 48 Question Id : 5500531808 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a straight line is equally inclined at an angle 6 with all the three coordinate axes,
then tanf=

28 HEY 8 2 AdrosTEod vard Sno 08 o eof, W)\ tanb=
Options :

22

J2

. 1+4/5

Question Number : 49 Question Id : 5500531809 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If the planes 2x+3y+4z+7=0 and 4x+ky+8z+1=0 are parallel, then the
equation of the plane passing through the point (k.k,k)and having the direction

ratios of its normal as (k-1, k, k+1) is

2x+3y+4z+7=0 20600 4x+ky+8z+1=0Seren daroddorr eotd, @)y
(k.k.k) Do) thoe=Tar, o wdwow S 65 doagen (k-1 k k+1)m
19AS w0 L1SEmo

Options :

- X2y E3z=36

3K +- 4N =57 =72
E
- 4x+5y+6Z2=90

Sx+6v+7z=108
4. -

Question Number : 50 Question Id : 5500531810 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



LetM [_— — | be the midpoint of the chord AB of the circle

\2°2)
X' +7 +10x+8y-23 = 0. If ax+by +1 = 0 is the equation of AB, then
Ja+3b=

X 4y H0x+8y-23 = 0 0 S0 aiog), a§ AB o6 Dot

(-7 -5)
M| | i oo, AB 608 20880 ax+by +1 = 0 eond, DN
\ " /

3a+3b =

Options :

Question Number : 51 Question Id : 5500531811 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If Ihe inverse point of the point (3, 2) with respect to the circle
X' 4y -2x+4y-4 = 0 is ({,m) then 2 + 19m =

X+ -2x+4y-4 = 0580 i Dot (3.2) o) D' doctiy ((m)
o0, O\ 2( +19m =

Options :



Question Number : 52 Question Id : 5500531812 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let S be a circle concentric with the circle 3x” +3y" +x+y~1 = 0. If the length of

the tangent drawn from a point (2, —2) to the given circle is the radius of the circle S,
then the power of the point (2, 1) with respect to the circle S is

X 43y +x+y-1 = 0 9,808 % Sodaborr &) Hidodo S wogomo. &
T8 (2. ~2) Dockaid) dvodt D 0 B Teke Sydo § ), FF{R¢w
0B, WY\ o S cﬁagﬂé (2.1) Dockoyy gy, Dotk 33

Options :

—137

1.33 ].8

L

, x 18

-29
3.v 18




-2
(a3

N
#
—t
0

Question Number : 53 Question Id : 5500531813 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If P(2. 3) and Q(—1, 2) are conjugate points with respect to the circle
X' 4y +2gx+3y-2 = 0, then the radius of the circle is

X’ +y +20x+3y-2 = 0 0 cs@,gvé P(2. 3) &odatw Q(—1, 2)en ®oasr
Dotioed) P8, WDY & SBin W), ngéﬂgo

Options :

Question Number : 54 Question Id : 5500531814 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The line X+y+2=0 intersects the circle x* +y* +4x-4y-4=0 in two points A
and B. Let S=x" 4+ +2gx+2fy +¢ =0 be a different circle passing through the
points A and B. If the distance of the centre of S =0 from AB i \/5 . then
g+f+c=

X+Y+2=0 wd 20w 8 X'+ +4x-4y-4=0 50 A B 0 Gotd
Doy oF wedJod. S=x"+y +2gx+ 2y +e=0 od 33 S0 A.B
Dochoie fow JF&od wivgeere. AB &od Sido $=0 Glog) Sog3 o
&r6o 42, wond R\ gHf+e=
Options :

12

2.«'--“'8

Question Number : 55 Question Id : 5500531815 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the focal chord drawn through the point P(5.5) to the parabola }q = 5x meets the
parabola again at the point Q, then the tangent drawn to this parabola at Q meets the
axis of the parabola at the point

yz = 5% DUrH0airAs P(5.5) Dot o A AR DTSV 88
Q 2 Dodo) 56 0008, O\ @ DTHV0ITAS e QAR G, 0, &

DOSHVA0 ANE), WE) 206083 Do)

Options :
Fo & 3§
=21}

e N4
(5 !
o]

9 % 'k].6 F,
%)

3@/&16‘ )
¢ \
‘E!UJ

4 % \ 4

Question Number : 56 Question Id : 5500531816 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Tangents are drawn from point (1. 1) to the ellipseS =x"+4y° -2x +8y+1=0.If
m,, m, (m, > m, )are the slopes of these tangents, then with respect to the given

ellipse the point P (m,, m, )
S=x +4y’ - 2x+8y+1=0 &6 5703, (1. 1) 0 ot 208 16, Grwi
fiercy. & 0\0) oo Teow my, m, (m, > m, )wowd, &8 &8 Hdo Gy

o) ® 2 2 D Tn vk P 5

P (m, m,) Do
Options :

lies inside the ellipse S=0

&3S5yh0 S =0 S0 HHotwod
A

lies outside the ellipse S=10

B85y%0 S =0 DDV 2DHoLOd
2. ®

lies on the ellipse S=0

&mgaﬁge_?o S=00 oHotod
3. %

is the centre of the ellipse S=10

&G %0 S =0 WBwS), Sogo DHEnod
4. %

Question Number : 57 Question Id : 5500531817 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



2 2
THETI N N o ) T
Let e be the eccentricity of the ellipse T—f‘?:l . If — 15 the eccentricity of a
: e

hyperbola, then the eccentricity of its conjugate hyperbola is
2 2
Xy
I—g =1 68530 aiog) eébogmm € B9R0S0TF0. WS WSVT VAD0

1
AR0g), 68088 — BN, BiY\E T°R) Dodk(f BSVTSVA0 NS, &30S
2 ,

Options :

4
1.333

2 |t

Question Number : 58 Question Id : 5500531818 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let X+y+1=0and x—y+4=0 be the asymptotes of a hyperbola H. If (1, 1)is a
pointon H, then the length of the latus rectum of H is

28 @SOTSV0he H g, wied 8, opew X+Y+1=0 dubatv
X-y+4=0 odohomro. Hp (L. 1) a8 Dothopd, iy H aiwg) oD vowo
aby)

Options :

143

1.9

NG}

42

3. %

LA

Question Number : 59 Question Id : 5500531819 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let f(x)z\ji +‘f1‘—x. If Tim f(x)=/and lim £(x)=5/2. then the set ofall

[ 1 X =l X—m

possible finite values of / and m is

f(x):\/i+\/l_—x edodoorro. lim £(x)=]S0Bako Tim £(x)=5/2 ewowd,

l-x X o X—m

Ryt | Babo m v Fe[aky 6d) HOLS TD Jewdw FDS

Options :



o {0.1)

Question Number : 60 Question Id : 5500531820 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a function f(x) defined on [a,b} is discontinuous at x = €(a.b). then
[a.b]2 doesdd ws PDoaEw f(x), x=a&(a.b) ¢ 3:3(_)&1@@,
e.at‘.;_)bcﬁo

Options :

lim f(x)= xliic];l- f(x)=1f(a)

15,‘;;};—10{

lim f(x)= f(a)

2. %

lim f(x)= f(a)



]il_']l31+ f(x)= f(b)

4, % X

Question Number : 61 Question Id : 5500531821 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let [t] represents the greatest integer not exceeding t.

Then the number of discontinuous points of [10"}111 (0, 10) 18

t S0 oo #ORQ rToseR) [t] Arded S od.

)¢ (0. 10) e90c380e5’ [IUKJ m}vb‘ﬁlm 9:30335 Dot Doady

Options :
o 1001
2. % 107
3__‘/10“:'—-2
4% e1[}

Question Number : 62 Question Id : 5500531822 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



4
=

At x =%. i_(Tan_l(cc:s Jx)+ Sec‘l(e"‘)] =

dx
T d g I ; |
X =— 3¢ —(Tan " (cosvx)+Sec " (¥) ] =
4 = dx(- ( ) ( })
Options :
L1
2 T
| el —1
2. %
3. %

Question Number : 63 Question Id : 5500531823 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): If f(x)1s not continuous at x = a, then it is not differentiable at
X=a

Reason (R): If f(x) is differentiable at a point, then it is continuous at that point

A9y80 (A): x =26 (x) D)yd) o B, Wi\ 0d x=ade

095402050 S°E.

660 (R) : 8 Dot G f(x) 03500 %0 ©and, SONALLLETRALS)
56 eab&'bélm 29:9)c3008
Options:
(A) and (R) are both true. (R) is correct explanation of (A)

(A) 20801 (R) e Botkr D5, (A) g, wBeand v (R)
1.4

(A)and (R) are both true. (R) is not correct explanation of (A)

_ (A) 80w (R) &0 Bockr g, (A) cing), HBwans 36 (R)
2.

(A) 1s true, (R) 1s false

(A) RS0, (R) €9 0eH000
3. %

(A) 1s false, (R) 1s true

(A) 0928750, (R) 2§00
4. %

Question Number : 64 Question Id : 5500531824 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Iff{x) is differentiable on R, f{x)f'(~x)~1(~x)f{x) =0, £(0)=3and £(3)=9.then
(1+£(-3)) +1=

R p f(x) w8 edgedatbdw, fx)f'(—x)-f(-x)f(x)=0, £(0)=328c0 f(3)=9
0008, o (1+£(-3)) +1=

Options :

1.332

Question Number : 65 Question Id : 5500531825 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

5 1

4y :
+118

The maximum value of ‘a’ such that the second derivative of x* +ax’ «

positive for all real x 1

-

X
o)

-

) TRDVOPEN X8, x'+ax’ +—+1 A30E); Gotiad WDTVRAN YT
() S0 (RN &0k ‘4’ AWE) B Dewsd

Options :

(4

1. %



.
3. ¢ 2

o
4% -

Question Number : 66 Question Id : 5500531826 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let f:R — & be a continuous function. If px+my+n=0 is a tangent drawn to the

curve y=f(x) at x =o,then at x=0, di(f(ae“)]:

2 ,
[RR w8 oddyd) dabin edosomro. oo y=f(x)s x=05¢ Add
Oy 6 px+my+n=0e00d, WDV X =0 L2 %[jf(aef“))z

Options :

—2om

—2pa

PRV i



Question Number : 67 Question Id : 5500531827 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

{ | Y

=8 J a decreasing function among the following functions is
\e

In the interval

f 1 3
d08 ek’ ‘ —.e
I\ e

g

0ddodS” eBirto eahy HaaHiw

Options:

logx

£(x)=

f(x)=x"logx
. H(X)=xlogx

y f(x)=x

Question Number : 68 Question Id : 5500531828 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the height of a cone of greatest volume that can be inscribed in a sphere of radius
R is kR, then ratio of the volume of the cone to the volume of the sphere is

mﬁavgm R ™™ 6o 28 Avod” woddddo soad (1633 208200 () B080Y)
G0g), I KR 6008, 30005 wd8irmrd3 Mok o 20d08armds
ockf o Ayyd

Options :

Question Number : 69 Question Id : 5500531829 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Ii(x)= 7 for n =2, then J.x’l‘g f(x)dx =
(1+nx")™
t(x)= 7022 0008, XNy an-z f(x)dx =
(1 -|—11:(n)} 4
Options :

ek
(1+nx") 2 +C

v nmn-1)



1
— = Lpx™) =

TE =
l—i-l
——(1+nx") 2+C
- n(n—1)
1 e
—(1+nx") *+C
4 % D+l

Question Number : 70 Question Id : 5500531830 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1+xcosx

Jx[l—xj(e“‘“‘)j]

dx =

Options :

l {Xeﬁiﬂ}!)f
—log|— +c

2 7|xe™™) 41

E )_‘-

1 (xe




Question Number : 71 Question Id : 5500531831 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

J dx _
(X—Dx+2

Options :

‘\/(_ Vi
3 A (X \/_

«J@ I

1
\/(xﬂ 3]

- ﬂ,l'(x+ 3
IIDE (X+2)—+/3
e Jx+2)+43

Question Number : 72 Question Id : 5500531832 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

ldx =

Je_gx:’ 1—sin2x )
\ 1+ cos2x )

Options :

1 5
¢ fanx+c

1.4 =

1
= “Tanx+c

1 o
—?E‘ T Leotx+c

4. % B

Question Number : 73 Question Id : 5500531833 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

sin(2n—1)x

I8, = dxand nis an integer, then S, —S, =

n

f= R s L

S11 X

N
DY & Sy RFGosn eond, ePyD 5,y -8, =

n

LN
I
P [ | 1

SINX

Options :



12| A

Question Number : 74 Question Id : 5500531834 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

=

If a=2nand b=2m+1for all m.n <N, then .[ e ot® (20 +1)x dx =

=

odymnelNs, a=2n 8o b=2m+1 wowd, CI)Ney

T
Ea
J e™ *cot’ (2n+1)x dx =

Options :

0

1.4



4. %

Question Number : 75 Question Id : 5500531835 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Consider the following statements (A) and (B)

b 4 q°®
A | —(f(x))dx=— | f(x)dx
“id}{((” dxju

(B): %{J‘f(x)dx] —f(x)+C

Which one of the following is True?

308 DHSBAVLD (A) 208050 (B) 0 HDO¢B0k0d

b d d b
{A):Id (f(x))d :ajf(x)dx

(B): %Uf(x}d};]:f(x)—(‘

208 75" DS RS[07?
Options:
Only (A) 1s true
i (A) &g RS0

Only (B) 1s true

_ (B) 283 Rgw
2.



Both (A) and (B) are true
(A) Q0803 (B) e Sodlse "n::e‘_'a?gm

%

Both (A) and (B) are false
(A). (B) &0 Coclr s
4.

Question Number : 76 Question Id : 5500531836 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

n+l 3

If J g(x)dx =n’. ¥n €Z. then the value of I g(x)dxis
-3

n

n-+l1 3
J g(x)dx=n". YneZ eond, €93 Jg{x) dx Dewnd
=3

i

Options :

R

Question Number : 77 Question Id : 5500531837 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

i nm \
Z 5111‘ SRR
n=0

. ~ dx =
COS X +sin X

c::-"——.tx.!|.-|

Options:

o | A

I~
ey

Ll
!

(\EH)E

4. &

Question Number : 78 Question Id : 5500531838 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let a and b be arbitrary constants and C be a fixed constant. If y =ae™+bxe™+C

is the general solution of a differential equation, then the order of that differential
equation is

a batn b e airddys o6 Doaen, € 6 Doy eS0T A,
y=ae "+ bxe™+ C 038 ws 030D 2Dg6naw o308 oo FED wond,
23 H%VN POEGER0 031356 rblelebiiTabb



Options :

1.331

Question Number : 79 Question Id : 5500531839 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The differential equation vy dx +(3xy ~1)dy =01is
ydx +(3xy—1)dy =0 e9d&
Options :
linear in y
L VS DS 2 EEE0

1

not a linear equation

| x WS DSDrS DAEGR0 SO

a homogenous equation

208 DAHTS HLSe0

3. %



limear in x

Lo X 5° DD edsD HAEBe0

Question Number : 80 Question Id : 5500531840 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

, e e . dx smy(l+ycoty)
The particular solution of the differential equation —= it e ),}-' (1)=0
dy  xlog(x’e)

18

dx _simy(l+ycoty)
dy  xlog(x’)

V(1)=0edge@ Hgdemo a8 HB(E e

Options :

. )
ysiny =X logx
1.¢ 7

i .
. Y smy=logx

5
o V=€ secx
4. #

Physics
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Question Number : 81 Question Id : 5500531841 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The potential difference actoss the ends of a conductor is (50+3)V and the current

through it is (5£0.1)A. The percentage error in the measurement of resistance of
the conductor 13

W PR D6V o6k TEWS e3¢0 (503)V Sobosn & eeioe oS
paero (510.1) A wand arrdsy) Ao Swd &' & Fdo

Options:

1.% 2

2. % 4



Question Number : 82 Question Id : 5500531842 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The velocity (v) of a particle starting from rest increases linearly with time (t)
as v = 4t, where v is in ms™ and t is in second. The distance covered by the particle
i the first 4 seconds is

D30 DS Roodt (050 Bothdid) &S w0 Htfo (1) S0 (1) & BDatore v=4t
0500 2AHSD B, B¢ Vs &' Bodaid 1 RSFE. et 4 skovd’ &
g0 podredond rdo

Options :

| % l6m

5 @ 32m

3 % S

4% 64 m

Question Number : 83 Question Id : 5500531843 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The time taken by a boat to travel upstream to a certain distance and return back 1s
14 hours. If the velocity of boat in still water is 35 kmh™ and velocity of the stream 1s
S kb, the distance travelled by the boat before it returns is

08 DES 36 DTS B[SB8ore Eod chrdo posrried 88A §B D3
T3 DB oo 14 doben. eh ) BS" 263 Srfo 35 kb 28t A
Daee Stfo § knll” 0008 D6 EGHLL 20080 HALFH0D Grdo

Options :

100 km

1. ®

5 o 240 km

- 120 km

4 » 180 km

Question Number : 84 Question Id : 5500531844 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the angle between two unit vectors A and B is 6, then ‘A+ B‘ is

Dse0s 8% A, B © B0 £'t30 6 e9003 F; —E‘ Dexd

Options :

2

COS5—
1.4



Question Number : 85 Question Id : 5500531845 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A body of mass 2 kg is on an inclined plane of inclination 30° and coefficient of

/ \
friction 1§ | —= |.
\¥3)

plane is

The minimum force required to move the body up the inclined

(Acceleration due to gravity = 10 ms'z)
£ ary

l
e S0 30° LHBakw e (beago \F o e deoo 2 kg Qaﬁsm%’ )
\VJ )

SRV &) B. HRYA T2 w0 Joar PS SELNDL BSVBID SR B0

(ot e dmo = 10 ms”)
Options:

I0N



5 v 20N

15N
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Time:0

The maximum acceleration with which a body of mass 200 kg is lowered into a well
using a rope having a breaking force of 50 kg-wt is

(Acceleration due to gravity = 10 ms?)
mbc:sé 2080 50 kg-wt o 28 gecod 200 ke G0 (10 WS IRVPA) WS
D03 Bopiy SHwRD (182 &6t

(fodoes &(Beso =10 1115'2)
Options :

7.5 ms™

5 ms™

5o
3 ms

2.51ms
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Time:0

; ; W =t
A toy of mass 20 g at rest acquires a velocity (31—2])]115 in 2 seconds. Then the

power of the toy is

J80 i@)éeﬁf’ &%) 20 g 03 0 8 ) S 2 WY & (%1 —2])1115'1;%?%

JoBXB. 800 ) HR0) aﬂmgﬁo

Options :

1 % 0975 W

L 0325W

Lx 13W

4 0.065 W
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A ball is dropped from some height and after first collision with the ground if it

-

L 1§ T——— . ) .
reaches i " of its original height. then the % loss of its energy

3
Sod 2 d00ct 2,8 003D 6D, 6 #ird & ¢ EIS S B dod . 3

S0y g0 G588, T #38° & TS

Options:

1.
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A solid sphere of mass 2 kg is rolling without slipping on a horizontal surface with a
velocity 5 ms™, The rotational kinetic energy of the sphete is

w8 §92 ddrodd dwo » 2 kg Q{073 A 23 20 Ko 5ms” Sttod ardsor
Sgxir &) 8. fivo dog) e tda 33
Options :
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Time: 0

A solid sphere and a solid cylinder roll down without slipping along an inclined
plane. If they start from rest from the top of the inclined plane. the ratio of the
velocities of the solid sphere and solid cylinder when they reach the bottom of the
inclined plane is

28 T 300 Do w8 DD AT SB0%) w8 P Aro &P
BT 0. TP S0 Perrio H0oc B AFy ?ga A0oc. waben 368, T
w0 3063 BtdB3 Lud Ao dobatw w3 Rrido aing) Srre Ag

Options :

V25:421

V3:42

J5:41
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Time:0



A pendulum of time period one second is losing its mechanical energy due to
damping. Its mechanical energy at time t = 0 1s 45 J.  After completing 15
oscillations, its mechanical energy 1s 15 J. The ratio of the damping constant and the
mass of the object making damped oscillations is

8 2806 85D w0 R w8 oo B30 Hud T afrods 33 A §& Y
) 8. oo t=0 56 o afreds #3 457, 15 Cormrw rg 308 Shod ol
airogdd #3 15 1. 0986 Drroso bk wSBE Eumre Sahuid) Sl
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Options :

—log_ 3s™
S
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1
—log,3s™
10

—log_3s
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Which of the following statements regarding damping force of a damped oscillator is
NOT correct?

0306 Evso oBg) 030 w00 Doeodo) Sod aﬂs“?sw’“s 286030 TG J&?
Options :

Damping force depends on the nature of the surrounding medium.

98¢ w0 DOHG olrdEo :b&embo D BENE 60808,

Damping force is generally proportional to the velocity of the body making
oscillations.

S8 wwo FEronoT EoTen Sohudd) S g, SIS eid ird
. 08 Sy,

Damping force acts in the direction of the velocity of the body.

- @SB E R0 DY VY, Dtfo H3S” D Batwiw.

Ratio of the damping force and velocity of the body depends on the size and shape of
the body.

e8¢ 200 B0 S0 ag), Do D‘é:\be;g ey VOEI0 0Bk e57d0
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The gravitational potential energy of a system of three masses m. 2m and 3m placed
at three vertices of equilateral triangle of side ‘a’ is

A’ Phaaw o w8 ddeFT R %g"e.} :ch QO™ m, 2m dadn 3m

STB0R) (1R HPVR0 &R, &8 S{d i) AAS] V8233

i

Options :
Gm
_11 R
1. % d
& b
- Gm~
-11 5
2. % .
_ Gm’>
-11
3. ¥ d
Gm
—-11 -
4. % a
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A metal wire with circular cross section and length one metre is pulled with tensile
force of 1000 N on each side. For the wire to be stretched not more than 0.25 cm, the

minimum diameter of the wire required is

(Young's modulus of the metal =10"Pa, take \/E =1.77)

ST0 DB \do o 28 Giry 8 T s Dobady. &3 Befy Tededy Doed
B¢ Dyo &od 1000 N eeo & erdl, @ & T & (163 DAY 0.25 cm

0008 &8 SIS GOCHVM S T

(S'eriy) odoh thmso =10"Pa, ﬁ =1.77 G208 %odw)
Options :

1 % 1.13mm

o
5 @ 2.26 mm

3 % 4.12 mm

4 % 5.1 mm
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Two mercury drops of radii r and 2r merge to form a bigger drop. The surface energy
released in the process is nearly

( Surface tension of mercury is S and take 974 =4.326)

méﬁﬂgénm I 48080 21 o) Boch SFeBR Do S0 0 ¢ Dot

S50, & PIANS’ DD ST $3 WArT

(a6 3B S Sobakn 954 = 4.326 6208 H04w)
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The temperature of the earth without green house effect will be
B 370 1§ (33788 ()i Derdo) SHLoD Brdd et

Options :

| » %



5 -18 °C

. -loec

4% -24 °C

Question Number : 97 Question Id : 5500531857 Display Question Number : Yes Is Question
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Time:0

The change in internal energy when 20 g of a gas 1s heated from 25°C to 35°C at
constant volume i

(Specific heat capacity of the gas at constant volume = 0.2 cal g™°C™" and T =4200
J /keal).
20 g saada 25 °C Ao 35 °C S ?gd QD0LATE0 3G T 5?\3@;;)_)Daa Q)

o883 $36° By drtdy

(36 o 96 oty DN ﬁﬂsbogéo =02 cal g7°C" oBasw J=42007 /keal).
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13617
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Time:0

A gas of mass ‘m’ and molecular weight ‘M’ 1s flowing in an insulated tube with a
velocity “2V". If the flow of the gas 1s suddenly stopped and all the kinetic energy is
utilized to compress the gas. the increase in the temperature of the gas s

(v 1s ratio of specific heats, R 1s universal gas constant)

‘m’ Qof)?SU"%‘ 00050 ‘M’ 9590 2780 (10 aP0i0Y). ei.’éq T Y08 SRR ﬁ“goeﬁé
2V Sod’ DFR08, € P WL S DR\, Ado 8 ¥3
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Options :

2MV2(y — 1)
1.¢ R

mVZ(y — 1)
.« 2MR

mVZ2y
3% 2R

MV?2y

2R
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Time: 0

Adiabatic bulk modulus of a gas at a pressure ‘P’ is

v - ratio of specific heat capacities of the gas
(Y p p L

208 TOINRD © ‘P’ Do I DERS 0DHS oreso
(y - ocasns bagﬁ‘g Svmgﬂée_m Qi)

Options :
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In the given pressure (P) — absolute temperature (T) graph of an ideal gas, the
relation between volumes Vi, Vs, Vi, and V418

BOND 966, A% 26Ro (P) - D6 &t (T) T & V), Vy, Vi, shobos Vy

20 DOAFrETY m% oo

i
/ ;
i

FPressure
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It et
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Temperatura(K) —

Options :

Vi=V,=V; =V,

1. %

ViV, « V< Ny
4.v )
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During the propagation of a longitudinal wave, in the region of compressions and
rarefactions

28 wRBY. Sborfo DHBOLLIN, T Voadd HBaty DEPEdre lgle

=)

Options :
density varies

. Froged ArEOS0E

density remains constant

. Froes slels
2. :

there 1s heat transfer

&0 DIGo REDSE
3. % £

Boyle’s law 1s obeyed

e85 DoSATDY D008
4, % =
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Time:0

With respect to air, the critical angle in a medium for red light of wave length 2, 13

6. Other facts remaining same, critical angle for yellow light of wave length A, will
be

" Kuod) oirdgo &3 8oty A, B0 Gd.0 L kY Gorh TP SBrAN
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2ot 80 6. 1, dof 360 fio R0 Bofb 503 S0 TS, od] Ee0
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Time:0

In a Young's double slit experiment, a laser light of wave length 560 nm produces
an interference pattern with consecutive bright fringe’s separation of 7.2 mm. Now
another light 1s used to produce an interference pattern with consecutive bright
fringes’ separation of 8.1 mm. The wavelength of second light is

ool 20ty DL HArKed’ 560 nm eﬁdoﬁ@%@ o 8 Gab 570l JO H(BS6e

OodS” Bty H6% Sk DY S| drdo 7.2 mil. S5 T8 DD
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Options :

1 % 030 nm



5 @ 30 nm

3 % 650 nm

4 % 240 nm
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A uniformly charged conducting sphere of 2.4 m diameter has a surface charge
density of 80.0 uC m™. The charge on the sphere is nearly

24m o to 28 583 Deixgd arird Aivo 608G Bt aY) Fogd
80.0 uC m™. wod Hvo e sddo WATHT
Options :

, 2.5%10° C

1. %
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Time: 0

Two charges +q and —q. each 1 PC are arranged as shown in the figure. If x =2 cm
and y=3 cm then potential difference (V, - V3 ) is

287,46 THC o) S0t Deojeraaen + 28050 - vk Hos” Srddw

Gordrdd. X =2 cm ook v =3 cm 90 ﬁﬁga.’ueﬁ de (V, —\-"B)
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+4 A B =q

Options :

- 54x10°V
Sx F
5 5410V
% 32x10°V
4w 2.7x10°V
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Two identical capacitors A and B are connected as shown in the circuit. Initially the
switch ‘S 1s closed. Now the switch is opened and the free space between the plates
of the capacitors is filled with a dielectric of dielectric constant 3. The ratio of fotal
electrostatic energy stored in the capacitors before and after introduction of the
dielectric 1s

Goct DO ST A SoBaho B duaked’ et sdwnemon. ud
D SR &) . WYY D A 36 Sarabb Duse D065 &) DEy
PSR Bed 207080 3 iy Besgo & Donbd. eond Besgod Dondg Awod,
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The resultant resistance between A and B in the given figure is

QNS Hedanes A, B o Socsy 0OS DB S0

A

Options :
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1. %
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In the circuit, E; = E; = E3=2 Vand R; = Ry = 4Q). Then the current flowing
through E; i

So0h08 E;=F,=F;=2 V &80%0 R; =Ry =40Q. #owd E, o 98iFo

D[S
i R
!I
E;
\ | B
Es
| AW
| R,
Options :
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2.
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A 2004 B s 4 A
3. %
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Time: 0
Among the following. Ampere’s circuital law 1s represented by
$08 TeBS” 2006 Dok DaDATYY ADoHE

Options :

%B.dlz 0
.

J) B.dl = p,I
o

2.
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4, %
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Time:0

The radius of the path of an electron moving at a speed of 3.2 x 10" ms™ in a
magnetic field of 6 x 10T perpendicular to it 1

(mass of electron is 9 x 10°" kg and charge of electron is 1.6 x 10 ¢ )
6x107T 0¥ 08 Eg°3 wororr 3.2 X 10" ms™ Srtod S9R0%) 28 JUFR D4

a‘*?@“go

(s 853 9x 107 ke, Jogd edso 16x 107 C)
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> % 13 cm

30 cm

4 % 39 cm
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Time: 0
The magnetic field lines of a bar magnet
208 (0L 03I7) 030 BBV 0TI 08 EG Sew
Options :
leave from the south pole of the magnet

03,0 GEEd 50 RAVOE TP ESBR

are absent inside the magnet

| @Qﬂ)ﬂ"gjo@o S°He o)

intersect each other
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form continuous closed loops

DD D0DD UPD VR DS GLI
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The shiny metal disk in the electric power meter (analog type) rotates due to

DS avmgé 66 (9erh 850) &' 206 &'iriy ¥y Ferdd 6t
Options:

temperature chauge

agg@esﬁ B3°60

1. %

eddy currents
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an external motor
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3. %

pressure change
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Time:0

An ac voltage of 10 sin ot volt is applied to a pure inductor of mductance 10 H.
The current through the inductor in ampere 1s

20688G0 10 H i 2,8 96575 10 sin ot volt o a8 ac Sﬁga‘é Y
0800BD. o tr(Tr VT MG Do ampere &

Options :
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. 5 ; e
Electromagnetic waves of energy flux 75 x 10 Wm™ incidents normally on a
2 o
surface of area 40 cm”. If the surface absorbs the flux completely, the total
momentum delivered to the surface in one second is

75% 10 Wi 33 wdairo o Dd}édoﬁsﬁﬂboeﬁ B6orren 40 e’ 2F(0 o ws
300p DSVWABT) a0, S0 BHTT0 AT $ 0590 SR0L008 208
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Options :
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Time:0

The de Broglie wavelength of a charged particle accelerated through a potential
difference V is A. If the potential difference is increased by 21%., the de Broglie
wavelength of the charged particle is

TBIHS Beso V oo $(6ea0 ok 2,8 D3 gm0 ag) Gerad o 36,0
K.ﬂ“@g)o:bﬁ By 21% 20w, D3m0 s derad ddors Qgéo
Options :

1. %



2. %

104

av 11

Question Number : 116 Question Id : 5500531876 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The minimum excitation energy of an electron revolving in the first orbit of
hydrogen is

TE RS DOXFEHE' Wc 516" HOFWRY) 28 JugdL WS S
&AL 93
Options :

. 34V



13.6 eV
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The process that mainly takes place in stars to produce energy

SETrods” 3 e3\3 T DEEdTT 26 DI

Options:

nuclear fission

S0 DA

1. %

nuclear fusion

S0 ©od0
2.

10111zation

90D 2800
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annihilation

L00 Bodéio
4, %

Question Number : 118 Question Id : 5500531878 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a CE transistor when the base current increases by 60 (A, change in base-emitter
voltage is 1.2 V. Then the input resistance is

CE &rdyR6 S0 868 D610 9araro 60 A 28AY, eserdo-aarosy) 3 3
1.2V 260068, 0t o aog), 398 do

Options :

.« 1000 Q
L 5000 ©
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The photo current in a photo diode depends on
T Garé & T DS Do Dewsd BIR 8T8 DR,
Options :

applied electric field

- 2R0DGoDD DENS Ed

frequency of the incident light

DSHD 50 3“.2‘3;@:1‘350
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wave length of incident light

DGR P08 Sdoridd 0
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intensity of incident light

HBD 5903 HHS
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A message signal of frequency 14 kHz is used to modulate a carrier of frequency
900 kHz, then the frequencies of side bands are

14 kHz ﬂ%s@ééo o) a8 V0% 03Ty 900 kHz 3%5:@:350 He) Tars
S60rmR) ArEHSE Satubid) edatrfodsd 316 Db FOYTRY

Options:
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4« 900kHz. 914 kHz
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Time: 0

Which of the following sets of quantum numbers is correct for an electron in 4f
otbital?

4 esBtrd & i QTS £ Doeodod) VB Tok0 NS A?

Options :

—2 =9 — .9 — +1
n=3, £=2, M, =<2, i A

n=4 (=3 m,=+l. m= +%

n=4, (=3 m,=+4, my= +%



n=4 (=4.m,=-4.m,= _%
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Total number of angular nodes of orbitals associated with third shell (n=3) of an
atom 13

w8 DO’ e $6y0o (0=3) 3 Dob es%émﬁ od COVALIARVY
Eraot S&y a0do Poxy
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An oxide of chlorine with water gives the strongest acid. The ratio of chlorine and
oxygen in its formula is

£05 g, w8 83\5 8 § 03 woRd vird) aed. T Fdyer & §65,
e.eébeaé 3 3"5:13{23
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The number of metalloids in the following elements are

208 Surosee & Lle S ke SEES

Si. Mn. B. F. Cu, Ag. K. Sb. As. Na. Ge

Options :

1.-'/4
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Which of the following pairs of molecules is isostuctural?

308 eV oS BIS DIOITT 0 SVE?

Options :

HeCl,. SO,

1. % &

SnCl,. PbCl,
2.9 -

, x SE,, XeF,

~ NH,. SO,
4, % -
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What are the formal charges on terminal oxygens of ozone molecule?
LES ) &' wody vdyad D& TS &6 o D?
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At 200 K. an ideal gas (X) present in a 1 L flask has a concentration of 1 mol L' At
the same temperature. 0.1 mole of X 1s added into the vessel. What is the final
pressure of the gas in atm?

(Given R =0.082 L atm mol™ K
200K ¢, 1L @«»i:;i &'R0%) @ity ot (X) tresed 1 mol L wd egﬁge:@ 56

0.1 3re © X D P $DFh. Tratud) S8 etddw atm o Jodh?

(a6 : R=0082 L ammol K')
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The isotherms of an ideal gas at Ty, Ty, T along with their slopes (m) (in the
brackets) are shown here. If Ty> T»> Ts, then the correct order of slopes of these
1sotherms 18

Ty, Ty 0Bk T3 © 56 28 6366, Train) ATy Baew 8 aren () oF

(308" 60 oo, T> Tp> Ts wond, o8 Trenw 8D gdodw 967

T1 (my)
T2 (my)
p T3 (ms)
—

b=

Options :

m, >m, >y

1. k=3
m; >m, >m
2 % 3 2 1
m, >m,; >m,
3. % ) )

L Iy >my, >y



Question Number : 129 Question Id : 5500531889 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In neutral or faintly alkaline medium, MnO, oxidizes I™ to iodate. What is the

volume (in L) of 0.02M KMnOy required to completely convert 1 L of 0.5 M KI
solution to 1odate in neutral or faintly alkaline medmm?

3600 I 68 DS T6 Atrged’ M0, , I8 cirdis m w8460
rrocodd. 1L 0.5 MKI graserd), 802 0o 08 0D ¢ airddos’ rorr
BOITGE T Rl 5290% 0.02M KMnO; gt 008&re0 (L o)
205 ?

Options :

Question Number : 130 Question Id : 5500531890 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The standard enthalpy of atomization of ethane according to the equation
C,H(2) > 2C(g) +6H(g) is 622 kI mol ", If standard mean C-H bond dissociation
enthalpy is 90 kI mol ™, the standard mean dissociation enthalpy of C-C bond (in

kI 11101'1) i
308 HAEHe0 D500 $:30 DATE DOATEREEE a)OC:T’bD 622 kJ mol™.

C,H, (7)) > 2C (=) +6H (=)

C-H s060 20féw pdre dadrad 33 90 kI mol™ e C-C wodio wriky pire
ABFR &lombb (kI mol” &)
Options:

1 % 40

90
3. % 83

Question Number : 131 Question Id : 5500531891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If standard molar enthalpy change and standard molar internal energy change
measured in bomb calorimeter are equal, which one of the following statements is
correct?

erotd 565° 8ok’ §DDD ey rers .Dot;r*@b & Srddy, Dire Arerd
9030 338" APy DATID, 306 DdEVE’ D6 BB JA?



Options :

An > 0. with increase in pressure

AL > 0. HEDO DEHD S

An > 0, with decrease in pressure

AN > 0. DEDSo SO S

An < 0, with increase in pressure

AN < 0. HEDo DEIDL &

An = 0. at constant pressure

An=0. 28 H&do HE
4. & 2

Question Number : 132 Question Id : 5500531892 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The pH of 0.01M BOH solution is 10. What is its degree of dissociation?
(Given Ky of BOH is 1x107™)

0.01M BOH gradeas) pH 10. &°Q D300 958 doeh?

(wdy%6: BOH a3wg) Ky = 1x107)
Options :

10%

1. %



Question Number : 133 Question Id : 5500531893 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At T(K), the K_for the reaction A,By(g)=A,B,(g)+B,(g) is 0.04 atm. The
equilibrium pressure (in atm) of A,B,(g) when it is placed in a flask af 4 atm

pressure and allowed to come to above equilibrium is

T(K) 56, ABy(¢)=A,B,()+B,(2) 6% K, densd 0.04 atm. 4atm D0
o A)By(g) & a8 ) &' God, P AT AOYEIDE DDENS I

A B,(g) a¢do (am o)

Options :



Question Number : 134 Question Id : 5500531894 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Given below are two statements
Assertion (A) : Protium and deuterium differ in their rates of reactions

Reason (R) : They have different enthalpies of bond dissociation

The correct answer 1s

208 Gocdd TA[R0 BIEITTO.
D3ydo (A): Jeako dobasn daééfjﬁoi)o T8 0% Geowd” DBAIrow
o0 (R) : o8 208 b?ﬁmé&ﬁﬁg“m D) o es0tro

‘bﬁ@é AT 0
Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)

, (4) 28050 (R) &0 Gothy 28G5 $0Batk (4) % (R) 2% D
1.+

Both (A) and (R) are correct but (R) is not the correct explanation of (A)

_ (A) 3080 (R) &0 B> 0B 5D (A) & (R) 938 D6 5
2.

(A) 1s correct but (R) is incorrect

L, () 08036 R (R) 2BDIS 5

(A) 1s incorrect but (R) 1s correct

L (A) 2338 526 5D (R) 2606
4.



Question Number : 135 Question Id : 5500531895 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The alkaline earth metal with lowest density is

W93 S S Fofd (v F6 Ly3E S'vo
Options:

1. % Be
Mg
Ca

4 % Sr

Question Number : 136 Question Id : 5500531896 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Relative stability orders of +1, +3 oxidation states of Ga, In. T are respectively

Ga.InTlo +1.43 93335699 f’ge:ao@ N RTA i}d@&o garen S

Options :

+ + . T e 3+ . 3+
: g,Tl =In =Ga'. Ga = =Tl



3+ 3+ .

Ga>In >Ti', TP st >Ga

2. %

3, % Ga >In" > TI" Ga’ > I’ > T

,x IT>M>Ga", TP >In"">Ga™

Question Number : 137 Question Id : 5500531897 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which element of group 14 decomposes steam to form dioxide and dihydrogen
gas?

(7S 14 drugin of 98 A D6 dirto 3o8ed & 836 b &
TEB TR0 D0H?

Options :

1. % C

5 u PO

Question Number : 138 Question Id : 5500531898 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Ethane on heating with a regulated supply of air at high pressure in presence of
manganese acetate forms ‘Q’. ‘Q’ is

SBS 2 Ao ™ § ALy o B¢ AroAND ARG vanged” Dd 33
Q' A6y6odo0B. Q" eRIB 67

Options :

. » CH;CH,OH
, » CH;CHO

_ HCOOH
3. %

, » CH;COOH

Question Number : 139 Question Id : 5500531899 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The ITUPAC name of the following molecule is

306 rnéseoé:{} @) odws), TUPAC arsnsdwn

MOz

CH;

Options :



2 — Methyl — 5 nitro — 1— chlorobenzene

2 - 203G -5 ¢’ - 1- E§FBosd

3 — Chloro — 4 methyl — 1— nitrobenzene

3-58 -4 0865 — 1-25°B02d

2. ®
2 — Chloro — 1 methyl — 4— nitrobenzene
258 — 1 035 — 4-¢5'0ED

3.¢
2 — Chloro — 4 nitro — 1— methylbenzene
258 — 4285 — -5 8085

4. %

Question Number : 140 Question Id : 5500531900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a AB, crystal structure, A™ ions occupy all the tetrahedral voids and B™ ions
make BCC unit cell. What is the formula of the compound?

AB, %y88 oy a0, A ol e 6y SR & Gogrory e,
208030 B aird 00 BCC 058 26 & Qdﬂmm. 9003 ¢ ‘Rﬁ)&@:ﬁo
QBE) &d)év’ 28?

Options :



5. % B4

.« AB)

4« AsBy

Question Number : 141 Question Id : 5500531901 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following in not correct?
308 oS5’ DB DETDIE T°E?
Options :
n- hexane + n- heptane — Ideal solution

N-3P5Q + 1l - 3P — 3838, Tredeso
1. % " "

C,Hs0H + H,O — Positive deviation from Raoult’s Law

C,HsO0H + HyO — 676 Dahidoo &od Seh) & Dswsdo
2. ®

0

|
Critl =+ CHy—C—Ch; — Negative deviation from Raoult’s Law

0

I
CHCl + CHC—CHs  _ 55 aafoano do0d dorred & Desero

3. %



O

|
CoHsOH + CH3 —C—CHg _ Ideal solution

o)
|

C2H50H + CHS_C_CHS

— 23853, TrE0
4. I

Question Number : 142 Question Id : 5500531902 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the depression of freezing point, when mole fraction of non-electrolyte
solute in aqueous solutionis 0.01? (K, of H,0= 1.86 Kkgmol™)

20 o & Dod D 06 FISAN aog) ArS eridw 0.01 wand
20z 2 D30y 208 ? (Hr0 g Kr = 186 Kkgmol™)

Options :

1.246K
1. %
., 1380K

. x 1.528K

, v LO43K

Question Number : 143 Question Id : 5500531903 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 298K, the conductivity of KCI solutions of molarity 0.1. 0.01 and 1.0 M are
recorded as X, Y and Z, Scm™ respectively. The correct relation between X. Y and
Zis

298K ¢ 0.1. 0.0 and 1.0 M KCI grayere) arirsdio Denaen St X. Y
S8k Z Sem™ eorr darc Sabaddd. X, Y bty Z o sy to 28¢5

208060
Options:
 x X>Y>Z

, o BEXSY

3 % ¥ 2X>/7

L X>Z>Y

Question Number : 144 Question Id : 5500531904 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The rate constant. k for a first order reaction.

C,HI(g)—>CH,(g)+HI(g) is x s~ at600K and4x s~ at 700K .

The energy of activation of the reaction ('in kJ 11101") is

(log4=06.R =83 K" mol")

CH (5) > CH, (o) +HI (3) 0 9650 $eomos 56§, Gew Jovoso, k.
600K ¢ x5, 700K S¢ 4x 5™ eoonded e 36 eded $3 (kImol” o)
(log4=0.6,R=8.3JK " mol™)
Options :

| v 48.16

, « 58.16

38.16

3. % 7

4 % 28.16

Question Number : 145 Question Id : 5500531905 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The auto catalyst in the redox reaction involving acidified potassium permanganate
and oxalic acid 1s

BaDg® Teroko D00 8ok BrdS e © dd| 261 b8y 6"
(a0 &8 850

Options :



Mon 2+
v Mn

SO;

Co,

H,0

Question Number : 146 Question Id : 5500531906 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The process of converting a precipitate into colloidal solution is known as

w8 WDET) STronid TrHnom Ardy AT Jotrd?
Options :
Dialysis

- Eodrdho

Peptization

DoESe0
2. % -

Electrophoresis

3)(335:5“;5%‘@ g Dodderdo
3. %



Flocculation

L i:%or.‘ééo

Question Number : 147 Question Id : 5500531907 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the extraction of copper from copper glance, blister copper is formed by the
evolution of a gas X. The shape of molecule of X is

56 [0y dod 5706 &v Ay Boeseiod’, X eid rafoid) Deodcadr D6 5706
D6\¢8008. ) X dwg) 83
Options :

Angular

e300

1.9

Planar trigonal

Do 88 BaD

Tetrahedral

Sy

Pyramidal

R[S S3



Question Number : 148 Question Id : 5500531908 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The sum of oxygen atoms in the formulae of peroxysulphuric acid and
pyrosulphuric acid 1§

bm%ﬁm;saé e300, Q&ﬁmwbéﬁé 70 SFELEPS’ Ando 3yad
00Tt "coosp]s

Options :

Question Number : 149 Question Id : 5500531909 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the correct statement

28D DSBS H8osod
Options :

Yb? is an oxidant

Yb? 2 93335623



Lu™" is paramagnetic

- L bmoﬂn&&oeﬁo

CrO 1s basic

CrO =3 "@5353“550 ged
3. ¥

Brass 1s an alloy of Cu. Sn

& Cu, Sn © DF S'dro
4. %

Question Number : 150 Question Id : 5500531910 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following.

ListI ListII
(Complex) (Color)
A. [Ni(en),]” L Green
B. [Ni(H,0),(en)]” II. Blue
C. [Ni(H,0),]” III. Pale blue
D. [Ni(H,0),(en),]” IV. Violet

308 TP RSDHEH0A.

2o I o 11
("ﬁ:aoﬁf.&o} (Bottd)
A. [Ni(en),]” L @35 D9y
B. [Ni(H,0),(en)|” IL. Hero
C. [Ni(H,0),]" III. §& Deo
D. [Ni(H,0),(en),]” IV. e
Options :

o A-IV. B-L C-IIL, D-II

5 % A-L B-IL C-III, D-IV

3 @ A-IV, B-III. C-1, D-II



« A-L B-IIL C-IL, D-IV

Question Number : 151 Question Id : 5500531911 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In which of the following chain termination step is absent?
208 BS5° Fyowerods 903 EoEE?
Options :
Polymeristaion of C.H.CH =CH, by RLi
RLi oo C;H,CH = CH, 3*00688¢e%0
1.¢
Polymerisation of C.H.CH =CH, by BF; and H,O
BF; 08ain HyO oeqor CH,CH=CH, 3958680
2. %
Polymerisation of = —~ and = “cN by (CgHsCOO0),

(CH:CO0), e = by~ CNe 38856mo

Polymerisation of C.H.CH =CH, by (C.H,COO),

4% (CﬁHﬁCOO)Em‘Em CHCH=CH, D82 830

Question Number : 152 Question Id : 5500531912 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

Identify the correct statement related to amino acids
AT ATV DoL0S0ND DTS DGR oosod
Options:

Nonessential amino acids cannot be synthesized in the body

OTHY(E DS BAHTOW 2660 So3rEd BRETS

These are soluble in ether

2 %6 &5 SSoHTow

These are low melting solid substances

Q) IR gbaﬁbéo B Do :ngﬂe.u

In aqueous solution they exist as zwitter ion

20 Groeod” @D 26 BAIrd © ErDes” eotron

Question Number : 153 Question Id : 5500531913 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

From the following, number of fat soluble and water soluble vitamins respectively
are
306 S, Eap(&° 467 Dodvg oboty A" 4875 e 203§ SR

ADCB; K Bg

Options:



Question Number : 154 Question Id : 5500531914 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In which of the following, drug class is correctly matched with the criteria of drug
classification

306 S’ B T 960 T HHL6 vgnod 28T 20 Sobud6?

Options:
Analgesics ----- molecular targets

o DTONS e ----- VE( IEDYD
Sulphonamides ----- drug action
DG OE e ----- 20068 288 58§

2. % :
Antihistamines ----- chemical structure
Q708 QD e ----- B o) £e0



Question Number : 155 Question Id : 5500531915 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

How many distinct alkenes obtained from the 3-Bromo-3-methylhexane upon
treatment with ale. KOH?

3-45"ar-3-2086 95,9, 60) 705 KOH & ) D) 2% 158 S 00 91008?
Options :

% 2

Question Number : 156 Question Id : 5500531916 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Below shown molecules are

S065 QO(RICAD VEVPEV

H xkaHg ,/>//\
Br ’*

L
Br
X Y

Options :
X =Y = Achiral
X=Y= d38¢

X =Y = chiral

 X=Y = 86&
2. % =
X = chiral Y = Achiral
X = 35066 Y = 36
3. ¢
X = Achiral Y = Chiral
X = Q86 Y = Sged
4, % = =

Question Number : 157 Question Id : 5500531917 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Reaction of phenol with which of the following reagents form picric acid?

208 D 5808 DS 56 262 35 B0 K0 A61ERE?



Options :

Conc. H>SO4

_— et HaSOy

dil. H,SO4

293 H,S0,
2. %

Conc. HNO;
et HNO3
3.

dil. HNO;

DO HNO;
4, %

Question Number : 158 Question Id : 5500531918 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The “X’ in the following conversion is

d0d mabées‘s ‘X' 87

H,CCH,COOH—* CH,CHBrCOOH
Options :
(1) Bro/Pred. (i1) H,O

(i) BryP g, (i) HhO
1.4



L« DB/CCl, (i) HyO

5 x B/ OH

4 % PBr3

Question Number : 159 Question Id : 5500531919 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The preferred reagent for the following conversion is
308 H0°8\E3 D S°ESEY YO TEOTE?
CH,CH,COOH — CH,CH,COCl

Options :

HCI

1. #

, . HOCI

SOCh
3. ¢

.« NaOCl

Question Number : 160 Question Id : 5500531920 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Which of the following amine cannot be prepared by the Gabriel phthalimide
synthesis method?

306 A0 0" BID FaLES THRE voFhe (T Saird) Sakedw?
Options :

Ethylamine

L ABEIDD

Benzylamine

, x BOTES WD

Phenylamine

HISIDS
3.

Propylamine

e SR b
4, %



